RHINO $75 DIY SLID

=




We get questions all the time from amateur film makers
asking how to get slider-like shots on the cheap. Often,
they're saving for a Rhino Slider, but they want something
cheap to get them by. Depending on the situation, we've
suggested everything from skateboards to $10 DIY options
online, but as a product designer | wanted to offer a more
elegant solution. This is our attempt to offer an easy to build,
affordable, and relatively smooth camera slider. You won't
need to drill or tap any holes or buy any expensive tools.
3

Note: The shopping list on the next page shows you everything you need to build the slider. Some of it can be purchased though

Amazon but you might find it cheaper elsewhere. We recommend buying the hardware locally, but we provided links to
McMaster so you can have an accurate list of what parts we used.



| ‘:y_-‘q'jg’.h:-t.}.@ﬂ.‘.:”l GDE’G@@ELU
St -

=

S W T
1 ¥ - o

:-fr"

&f( )5/1618X1 25"

11/32”,8.1

i _ﬁ*‘SIlCKET CAP BOLTS

1
i

-

i
b
gl

_. r7.. - _-F.

(1 2)3/ 16”ID X 5/ 8” UEWAS!-IERS

J'

e - -
i .{..-'"-1'- Ty
- *-
- 3 - :
- -':--
ol
=4 -
3 0 "L
-
e o
iE,
Ll s L
q e L
= A =
3 LS '-IF'_
. k
a - ’_,
-
|
e
u
-
@
-

(1) NATIONAL

-:rti?RHWARmzoBc
. SLOTTED STEEL -

ANG].E 1-1/2 BY 36- INCH,
"~ GALVANIZED



http://www.amazon.com/dp/B002BBGTK6/ref=gl_it_dp_v_nS_img?_encoding=UTF8&colid=19DRNFLWM3QPI&coliid=I2R419I0MPPEPU
http://www.amazon.com/dp/B004UOL1X2/ref=gl_it_dp_v_S_img?_encoding=UTF8&colid=19DRNFLWM3QPI&coliid=I1QWWXIYTELDFU&psc=1
http://www.amazon.com/dp/B000VYOLKK/ref=gl_it_dp_v_nS_ttl?_encoding=UTF8&colid=19DRNFLWM3QPI&coliid=I20Q7TFKDX9G8F
http://www.amazon.com/dp/B000VYOLKK/ref=gl_it_dp_v_nS_ttl?_encoding=UTF8&colid=19DRNFLWM3QPI&coliid=I20Q7TFKDX9G8F
http://www.amazon.com/dp/B000KKHTW2/ref=gl_it_dp_v_S_ttl?_encoding=UTF8&colid=19DRNFLWM3QPI&coliid=IQDH2K359DJPY
http://www.amazon.com/dp/B000KKHTW2/ref=gl_it_dp_v_S_ttl?_encoding=UTF8&colid=19DRNFLWM3QPI&coliid=IQDH2K359DJPY
http://www.amazon.com/dp/B000KKHTW2/ref=gl_it_dp_v_S_ttl?_encoding=UTF8&colid=19DRNFLWM3QPI&coliid=IQDH2K359DJPY
http://www.amazon.com/dp/B0027E3JYG/ref=gl_it_dp_v_S_img?_encoding=UTF8&colid=19DRNFLWM3QPI&coliid=ID5TY7LOV772P
http://www.amazon.com/dp/B0027E3JYG/ref=gl_it_dp_v_S_img?_encoding=UTF8&colid=19DRNFLWM3QPI&coliid=ID5TY7LOV772P
http://www.amazon.com/dp/B0027E3JYG/ref=gl_it_dp_v_S_img?_encoding=UTF8&colid=19DRNFLWM3QPI&coliid=ID5TY7LOV772P
http://www.amazon.com/dp/B0027E3JYG/ref=gl_it_dp_v_S_img?_encoding=UTF8&colid=19DRNFLWM3QPI&coliid=ID5TY7LOV772P
http://www.amazon.com/dp/B0027E3JYG/ref=gl_it_dp_v_S_img?_encoding=UTF8&colid=19DRNFLWM3QPI&coliid=ID5TY7LOV772P
http://www.mcmaster.com/#94820a220/=v5wugk
http://www.mcmaster.com/#91251a192/=v5wufj
http://www.mcmaster.com/#91251a585/=v5ws21
http://www.mcmaster.com/#91251a585/=v5ws21
http://www.mcmaster.com/#94820a237/=v5wsls
http://www.homedepot.com/p/Allied-Tube-Conduit-3-4-in-x-10-ft-Electric-Metallic-Tube-Conduit-101550/100400406

iy iy
ol Bl |

-'~_\.-!_ L by
€3 33 34 35 A

STEP 1
Mark 4 lines on your piece of angle with a sharpie.

6 1/8" 12" 22 5/8" 33". The two shorter pieces will be the sides of the carriage. The two longer pieces will be your
end plates that the conduit bolt to.




STEP 2
Next, you'll need to cut the angle. A hacksaw or a metal cutting saw work great. Ask the store you buy it at if they
can cut it for you if you don't own a saw.




STEP 3
It's much easier if you secure your angle in a vice. Line everything up and start cutting.










STEP 4
Now, you should have two short pieces and two longer pieces. Discard the scrap if you have any.




STEP 5
The edges will be really sharp so we'd recommed using a file or a sander to smooth them off.




R By ol M e i T g
e R L e R
| e L A = o
g e e

il ]

STEP 6
That's all the cutting you'll need to do for this project. Now, we're ready to prep the carriage




g E - S N T S N
LT il 'I-l.nq--l..--..__'-.__- il

T il S e W) S o L

STEP 7
You'll need to bend both edges of the bracket to 45 degrees. You can do this on a table or a vice if you have one.




STEP 8
Fold a piece of paper over to get a benchmark for 45 degrees. Hold it up to your bracket and compare. Bend more
as necessary.



STEP 9

Now, you're ready to assemble the carriage. Place the bent bracket on top of one of your shorter cut angle pieces.
Line up the holes and place your first 8/32" bolt through.




STEP 10
Turn over the assembly and place a washer over the bolt on the other side. Then, hand tighten the lock-nut to
keep it in place.




STEP 11
Repeat the previous step until you have both bolts in place holding your piece of angle to the bracket.




STEP 12
Next, using your allen wrench and socket, snug up both of the bolts. Make sure the piece of angle is parallel to the
bracket. Repeat this step with the other side.



STEP 13
After you have both sides bolted on your carriage should look like this from the bottom.




STEP 14
Press a bearing into both sides of the skateboard wheel.



STEP 15
Once it is pressed in completely, repeat the process with all 8 wheels.



STEP 16
Insert a 5/16 bolt through the outermost hole in your carriage.



STEP 17
Stack four washers on the backside of the bolt.



STEP 18
Place your assembled wheel on top of the washers.



STEP 19
Screw on a lock nut and hand tighten it in place.



STEP 20
Repeat the previous step on the opposite side of the piece of angle.



- N ¥
.....
.........

STEP 21
Once assembled, there should be a small gap between the angle and the wheel so it can roll freely.




STEP 22
Assemle the six remaining wheels on the outer holes of the angle. Once in place, tighten them down with the hex
wrench and socket. Take care not to tighten them too much or the wheels will not spin.






STEP 23
After all of your wheels are assembled, they should lay flush on the ground and spin when you roll it. If they don't,
you can twist the carriage so they are better positioned.




STEP 24
The next step is to assemble your rail track. Lay the carriage on the track to get the correct spacing between the
rails.



STEP 25
Snap the conduit straps to the end of your rails. Lay out your longer angle piece and place the conduit on top of it.
Line up the holes of the conduit straps with the oblong holes in the angle.




.
e - F
£ i o L -
- il T
LY 1 ;

Place one of the 8-32 bolts through the strap and the angle.




STEP 27
Place a washer over the bolt.



Next, hand tighten an 8-32 lock nut over the bolt.




STEP 29
Repeat the previous steps with the other side of the conduit strap.




STEP 30
Repeat the previous steps with the second rail. Then, assemble the opposite end following the same process.




=
-

STEP 31
Place the carriage on the rails to determine proper rail spacing.



>
)
—
)
O
)
(0p]
=
@)
O
()
e
-+
C
)
-+
e
AS)
—







<l 2. i .
e I o i el O i g i, X F

I

©
)
s
O
C
)
o
| -
)
o
)
| -
qV)
)
3=
L,
o
o
C
()
)
L
s
O
C
4V)
2
'©
| -
)
e
3
)
| -
D)
(Vs
)
4
q")
S
n’
=
O
O
O
)
-
)
3
L
(@)
-
)
| -
4V)
wn
)
o
wn
L
s
O
O
—
)
3=
G
<



STEP 34
Place the carriage on the rails and make sure the rollers contact the rails fully. If they don’t, you can loosen the con-
duit straps and reposition the ralls.




STEP 35
To mount your camera, take a 3/8-16 bolt (if you're using a fluid head) or a 1/4-20 bolt (if you're mounting your
camera directly to the carriage) and some fender washers and push it up through the carriage.







STEP 36
Tighten the bolt on to the ball or fluid head and you're ready to film.






":h'p.-.-..... : .ﬂ-ﬂ_.,-




.1 Prufif;
Mfeflecti)
finish -

I I
L § E

[E i
4 ." -

e
STOPS
RUST 2

(V0 e e
B g wery. UGN e A

U0 65302 o W . NS N P
Ve s e D s e 1

NETWT. 12,00 CONTENDAO NETD 34

STEP 37
If you want to make you're DIY slider more presentable you can paint it. We used some Rust-Oleum Matte Black
paint for our build. If you want the paint to stick well, we recommend using some primer.



T R = . R FCE R

g il .

STEP 38

Spray with smooth, even stokes about 8-10" away. 2 -3 coats will make it pretty durable.




STEP 39
If you want to mount it to a slider, lay the ends over the tripod stud and use a 3/8-16 wing nut to secure it.




i

: MR
" ‘

STEP 40

Make sure both tripods are level and you're ready to shoot!













